ouoooooo UOOUOUO0ODpooo

ooo, O

O

O

160000000500

SO ROODOOO

SO rROODODOOOODO

420000000 300 googroo ooooroog
s60000OO0OO 8OO X0OaeOO zUOaO0O
56 000,000 1800 z,y e X z,y,z € X
580000000 /00 [Ij[lj[llil IID]EIIZID
600 0ooooo9nn Uvno z0O Uvd yO
20000000 1000 oood (30000000)
20000000900 goood oo
1230000000 100 ooooog (100000oo)
1630000000 500 oooooo ooooog

640000000 1200

c1,c0,c3 € ROO

co,c1,c0 € R OO

2000000000700

ubooobobooobooboooooboooooon

gbooooobooooo

obooooooo 1200000020120

2150000000 1800

d(z, z) < d(z,y) + d(y, 2)

d(z,2) = d(z,y) +d(y, 2)

2190000000 200

(oo)

2190000000 500

o(f(X)) = ¢(g(X))

2200000000300

ap € M

ayr € M

2230000000 1600

I<m-1

1 <m-—1

2230000000 1700

(f +g)7rz+7z c I

(f+g>nn+7n—1 c I




